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The following contingency table shows the result of a crosstabulation of type of student (A = 
American Student and I = International Student) by major (S = Science and S' = non-Science major).  
The purpose of the study is to see whether foreign students are more likely to major in the sciences 
than U.S. students. 

 American Student (A) International Student (I) 
Science Major (S) 550 450 
Non-Science Major (S') 4,450 550 

 

 

1. P(A and S) = _________ 

2.  P(S|A) = ____________ 

3.  P(S or A) = __________ 

4.  P(S) = _______________ 

5.  P(A|S) = _____________ 

6.  P(S'| I) = _____________  

6.  Are type of student and major independent?  Explain. 

 

________________________________________________________  

_________________________________________________________ 
 
_________________________________________________________ 

 

_________________________________________________________ 


